W Please note:
N Turbo Maths e I
Monday Pumsliel
Practise your written methods on scrap paper.  with decimals
instead of
remainders. Please
1. 428542 A 9.24 = model on flipchart
paper .and display
in classro.oum.
2. 3500 - 2100 =
Extra challenge
3. 689 x 86 = 2 500 00 [

The common multiples
oraezs - B
ARN..- -




a &0 Please note:
W\ Turbo Maths MQDdﬂM w s
lo o dividing
Practise your written methods on scrap paper.  with decimals
Tmmmumni Please
1. 428.542 + 9.24 = 437.782 model on Plipchark
paper .and display
in classroom.
2. 3500 - 2100 = 1400 (FEMA)
Extra challenge
3. 689 x 86 = 59 254 i e 0 =

The common multiples up to

4 573 +23 = 24.91 50 of 6 and 8 are = 24k, 48

(Teachers to model numhber 4 with decimals) 56 . x 62 = 347.2



Practise your written methods in your maths assessment books

Entra challenge
1 ¢/s - /s |

If n= 14, what is 4n -10?

3.1895 + 16 = -
4.8.08 +1875.9 = [0

(Teachers to model numher 3 with decimals)




. .5 s
Practise your written methods in your maths assessment books
1. 7980 -584.6 =7 3954
2.4.2x12 = 50.4 e

| °/s - "[s = /s

3. 1895 - 16 = 118.44 If n = |4, what is bn -10?

n=4é6

4.8.08+1875.9=1883.98

(Teachers to model numher 3 with decimals)




B¢ Tubo maths Wednesday

Practise your written methods on scrap paper.

Extra challenge
1. 999 x 11 = || Wt woutd o 75" angl b

If the ratioc of seeds to plants
is 4:3, and |12 seeds .are

planted, how many plants
will grow? =

What is the mean of the
following numhers?
4L |16 9 I5 7

(Teachers to model numher 2 with decimals) ULl =



Practise your written methods on scrap paper.

1. 999 x 11 =10 989

2. 815+68= 11.99

3. 89 + 815.53 = 904.53

4.9 000 - 17.598 = 8 982.402

(Teachers to model numher 2 with decimals)

What would a 78° angle he
called? = .acute

If the ratioc of seeds to plants
is 4:3, and |12 seeds .are

planted, how many plants
will grow? = 9

What is the mean of the

following numhers?
4L |16 9 I5 7

mean = 10.2



Practise your written methods on scrap paper.

1. 8912+ 12 = D
2. 169 x 82 = [ =

“ha+ Tl =r

(Teachers to model numher | with decimal
and explain dot notation means recurring)



W e Thursday

Practise your written methods on scrap paper.

1. 8912+ 12 = 742.6
2. 169 x 82 = 13 858 ;m“*’“jﬂz
o = 7 = 32

e+ Tlg=0ap=a] G =
I /30

(Teachers to model numher | with decimal
and explain dot notation means recurring)



Can you solve the problems? Use scrap paper if needed.

1. 3.Spniﬂl.embs,take
4|:|7|:|2 6212
AT « 12 [
54|:|44 12424
6212
> 18636
9[]24 .
- 724[] 4. 04ll.6

[]278 618 6



Can you solve the problems? Use scrap paper if needed.

1- 3.Spo,tﬂ\.zmi5,take
46732 6212 e
+7912 X 12 included .o place

54644 12424

6212

> 18636

9524 ,

- 7246 4. 047.6

2278 61286






